LABJNDu7-Dreieckshelligkeit T*
T* hc=L*w - nc=100,
T*LaBaNDu7=[IN[(A 1n+A2nY)J(A 2nA 0n)] (Yn/100<Y<=Yyc)
T*\(3,6)=261,T* ,(18)=593,T*,,(90)=924
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LABJINDu7
Normfarbwertdifferenz
YacmL*w  nc=100,
T*Lasanpu7 =IN[A 10+A2a)I(A 20A0n)] (Ync/L00<Y<=Y,0)
dY=Agn(A1tAsnY)  Ap=0,017, A,=0,0058
Aon,pes1,5, Aon,a=1,0, siehe CIE 230:2019
Yp0=0,45, Ap,=1,000, ¢=0,84

dY;=0.10, A1=0.014, Agn 0,0048
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log (AY/Y) LABJNDu?7
. Normfarbwertemfindlichkeit
SHEYY YocmL*w - nc=100,

T*LaBaNDu7=[IN[(A 1n+A2aY)J/(A 20A0n)] (Ya/100<Y<=Y,c)
AYIY=Agr A 1Az Y Y

(dY/Yy¢=0,0050, Ay=1

(dY/Y)§=0,0056, An=0 ,Ag
(dY/Y},=0,1088 Y, 1& dy=0,10
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LABJINDu7
Normfarbwertkontrast
Y=L w nc=100,

T*LaBaNDu7=[IN[(A 1n+A2aY)J/(A 20A0n)] (Ya/100<Y<=Y,c)
YIAY=Y/A on(AntAznY)]

(Y/dY}=198,78, A,=1,000, ¢=0,84
(Y/dY)g=176,51, An=0,014, A,=0,0048
(YIdY} 113,13 Y, =18, dY=0,10
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LABJINDu? relative Dreieckshelligkeit T*/T*

TEIT
Y=l ;6 :ne=100;

T,
T*Laganpu7=[IN[(A 17+A2RVI(A 20A0n)] (Ynd/100<Y<=Y,e)
T*n(3,6)=261,T*(18)=593,T*,(90)=924

T*odT*=1,55, Ay=1,000, 6=0,84
T*, 20,014, A= o 0048
T3 g TA=0,43, TH =503, 26 Y1

log[T*/T*,]=0, m,=0,33
L* ,=49,T*,=593
1 Anwendungs-|
1 bereich
1y,=18

Yy =90
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LABJNDuU7 relative
Normfarbwertdifferenz
Yoc=L*w - -nc=100,

T*Laganpu7 =[IN[A 1n+A2nV)V(A 20A0n)] (Ynd/100<Y<=Y,c)
AYIOY,=AgfA 1 +AgYI/AY,

dYeg/dY,=4,43, Ay=1,000, ¢=0,8
Y,¢/dY,=1,00, A=0,014, A2= f o
dY3 ¢dY,=0,31 Y,£18, dY=0,10
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log [(AY/Y) I (AYIY)] LABJINDuU? relative
Normfarbwertempfindlichkeit
S/Su=@YMIAYN), ot ™S EIE0.
T*LaBINDu7=[IN[(A 10+A2nY)J(A 2nA0n)] (Y/100<Y<=Yc)
(@YIYYAYN Ayt Ao Y)Y (@YIY)]
(AY/Ypo/(dY/Y)=0,88, Ay=1,000, ¢=0,84
(0]
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(leY%al(leY‘ =1,00, Ay=0,014, A, =0,

048
(dY/Y} J(dY/Y)F © 56 Y,~18 dY=0,10

Iog[(dY/YY(dY/Y)J] 0 m=-0.13 1
T#,=503 dY,=0,10 dY,/Y,=00056,  AIwendungs,
1y,=18
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Yn=3.6
log [(Y/AY) I (YIAY),] LABJINDu? relativer
Normfarbwertkontrast
CrlCry=(YIAV)I(YIAY)y yoi % 2100,

T*Laganpu7 =[IN[A 1n+A2nY)V/(A 20A0n)] (Ynd/100<Y<=Y,c)

(YVIAYY(YIAY), = (YIYIAY Y)TA onAgrAgr VI (Y/AY),
(YIdYg/(Y/dY)=1,12, Ay=1,000, ¢=0,84
(Y/dY%al(Y/dY =0,014, A,=0,0048

=1,00, Ay
(Y/dY} ¢/(Y/dY)=0,64 Y,=18 dY=0,10
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